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aki=TH 134-1 I=Tsa) 757-10
aki=-TH 134-1 [=Asa:) 757-11
agEid=TH 134-1 [=Asa:) 757-12
agkid=-TH 134-1 = HT 757-13
=2kI=-TH 134-2 = HT 853-2
aki=TH 134-3 F=Tsa) 761-24
aki=TH 134-3 [=Asa:) 795-5
aki=TH 134-3 [=Asa:) 796-2
aki=TH 134-3 [=Asai) 796-8
aki=TH 134-3 [=Asai) 796-9
aki=TH 134-3 [=Asa:) 820-27
agkid=-TH 134-3 = FHT 971-1
akEil=TH 134-4 = EmT 758-1
e2RI=-TH 134-4 (=Yt 758-5
akid=-TH 134-5 = FHT 757-1
=2kI=-TH 134-6 = HT 757-3
aki=TH 134-7 = 5T 757-4
agkid=-TH 134-7 = FHT 757-5
akEi=TH 134-8 = EmT 757-6
2RI=TH 134-8 [=4s4t) 757-1
a2RI=TH 134-8 [=4s4t) 757-8
2RI =-TH 134-8 (=Yt 757-9




